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SCIENTIFIC METHOD.

o

Name

————

' o Research the problem.
5 __ Observe and r;oord.
3 Make ahypothess,
| / identify the problem.
o Arrive at-a conclusion.
‘1’ __ Testthe hypothess.

1]

" Put the following steps of the scientific method in the proper erder.

F

b 1. hypothesls

§ 2. control

a 3. variable
O 4. experment

d 5. conclusion

e 6. theory

C "~ 7. data

Match the following férms with the comect definttion.

Q)

b)

c)

e)

o))

organized proces used to
fest a hypothesis

an educated guess about

- the solufion to a problem

observations and
measurements recorded
during an expetiment

ajudgment based on the
results of an experiment:

a logical explanation for

“eventsthat oceur in haiqke
used to show that the result -

of an experiment s really
due to the condition being
tested

factor that changes in an
expetiment
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- SCIENTIFIC NOTATION / SIGNIFICANT FIGURES

Scientific Notation
'Use the space provided to write the given values in Scientific Notation, be sure to only include significant
figures in your answer.
1) 678.9 b. 789 x /0% 2) 0000107 _9.107 % lo”°
3) 18 [.8 x /o 4)199782  1.99782 x /o3

5.) 0.00000602 .02 X /5°
Re—wntethevaluesﬂxatarecxpressedmScientiﬁcNotaﬁonintoﬂ:ciroriginalform.

6) 43X10* O.0004 3 7) 1X10° |

8.) 2.809X10° 2 6900 9.) 1.008X 10° (). 106G

10) 15X10° _Q.0O000Is

Identify the number of significant figures in the following vahues.

11) 467221 b " 12 0.000160008 6 13) 377 3
14) 100000 b 15.) 2.00022 6 16) 0000015 2
17.) 80000008 <& 18) 100000000000000 | 19y imie
20) 7700770 (.

Report the answer to the following number of problems with a.) the correct number of significant figures,
then b.) convert the answer to scientific notation as well.

21) 6734X08%  a) (0. b)_ 6.0 % /0’

22) 549801175  a) . 1% b)_ 2. 14 X /O®

23) 188814763  a)_495.2 b)_9.52 x /o'
24)21.53-172 a)y /4.2 b L YR X /0
25.) 9885-34.22 a)_985| b)_9.851 x /6%
26.) 12.04+17.9 a)_39.9 b) 2. 99 x 1!

27) 5552+0.00381 a) SSS.9- by 5.8662 x Jor
28.) 51.09X 3.3 a)_ /70 b) /.70 X JO*
29.) 1.001 X 4.004 a) 4.00% b 4.0068 X /0°
30.) 622+799 e 142 b/ Y21 x /o3




The data table below shows how well enzymes function at different temperatures.

1. What is the independent variable?

—I_Emp-cm'%uﬂ

2. What is the dependent variable?

ne HYme Act: III‘J-LJ

X 4
Temperature Enzyme
°C Activity
0 0
20 10
30 15
40 20
50 8
60 5
70 0

3. Using the information in the data table, construct a line graph
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4. What is the optimum temperature for this enzyme?

4o°C






